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 (  Z�#8� [����� 7%\ =2
�2���� P�]^��  �#12
 ��./,B  ��!�_)FWS (#	" ��#	" ��
�� � �S�#>�,� P`
 �� ��
7���6 a!�_ ���! b�>c�O �6�6 �
  R>`%� Rd�%�e� 
�� �� C���� ��I� PT�� C��� b�>�� (HRP)=��f km 27 500g  

h(   ��!�-�� ��./,0�� �#12�� K�A+�� ����� i���
 W
)FWS (g��/>e ��#	" ��
�� P`
 �� ��/#>�� �,"�#�� � j�k��  
l(   ��!�-��  ��./,0�� �#12M� �2��8�� ���
 ���� j����� �`�� �m W
)FWS(g��#	%��   
� (  W
 @�A	?����  �B�8�B���	 Y�2��8��� ���G� � ;d��� n�%o� Y  ���Op!���� ����� ���G� �!��
�� 

�0����� ������� q��>�� E/]^�� ��r H��%��� R#	%�� h"���� ������� (PDH)Y � ������� ITU-T M.2100Y ��
�#/�� 
������� q��>�� E/]^�� ��r H��%��� R#	%����� h"���� ���� (SDH) ���	
� ��>� b�,"U� ������� SDH � �������  

ITU-T M.2101Y  s�r�[���&�,� E������� tX ITU-T G.826 �ITU-T G.828Y 4/O C�����g  
� ( W
 ������� ITU-T M.2120 ���� ����%`X =>	�� �6�D� HA>�� j^u ��`� ��O �� ��`� � �$	�%� ��&_
 

���G� ����	M ��
����  P`
 ���#12
 b�,"U� ��#	%�� ������� �6��>��� E/]^�� ��rg 
� (  W
 �6�6��%�� �B�8�B� @�A	 �	 ;d� ������� ITU-R F.1668 ��/>��� i����! ����� �� v�� ��AT�� 

0���� ��./,0�� �#12�� ��!�-�� �����w� ���+���� � ��
�� �0����� ��>`%� ��d�%�e� �S�f km 27 500g 
x (  W
 
_�� i�%y "�^�2B� � ����%`X �2��8�� PzT�� P`
 �� =>	�� �6�D� HA>�� j^u ��#12M ��./,0�� 

��#	%�� ��!�-���,�"��� ��	 ��  [����� � @�A	 �B�8�B� ��6�6��%� ��B�8�0� C���� ��D0� ;!���g  
{(  =2
 R]$&6j6%>�  ���� �����  �2��8�� v�� ������%`U�� ���G� �<,���! P`
 �� PDH �SDH �M�#12 

��./,0�� ��#	%�� ��!�-�� ��"�5U �/	�&�� PDH �/ �
SDHg 
}(   �2��� v�� �� ����� ���� j6%>� � =2
PDH �SDH �M�#12 0����./, ��#	%�� ��!�-�� �6�D n�%o�� 

"�$�OB� E>! ����� ���� ��6�, �T
 R]$&6 Y�/#�~� �2��8�� �0T�� . W���������M.2100� M.2101 ?���� @�A�� 
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 ��DB� � �B�8�B� �>! ����� 4/O q�0O Yn�e%� ���
 ��r �
 ����� �AQ&� �:�! ���w� ��6�, W�ez%>�� W���D
zT����P)��/8���(g  

7(  �2��8�� v�� �� ����� ���� W
�	  ���G� � ;d��� ���� �O j/�� BIS ������� � �"���� j6%>��� H�� 
ITU-R F.1330g  

�(  � N/>�� ��,��	 ��%`X �&O �6�^�� �$G� ��%�*� H`���� "�$�OB� �06X E>�6 =2
Y�2��8�� v�� �� ����� ���  
���� �
�  

 
 (  =2
 �� 
P` ;6x�� i���
 ����� ���/� C���� �� 
�� b�>c ���! a!�_ 7���6 b�>�� C��� �
=	�*6 Y Z���	 

��� R#	%�� C���� �� ����&�� g��e�%]I� a��� ��� ���`�� %��&>�� ��,�,�� �� 
��� (PCE). P#>��6� W�O�2 �� 

%��&>�� PCE �������:  
�  %8&O R,�,
 �� 
�� C�� (IPCE) ;�6 E! �!��$�� ������� �A�� �6���� � �/! YRL�<�2� �
 E�A� E! 

"�$O �/! � E�6����1g 
�  %8&O R,�,
 �� 
�� �#�e E! �6�/! (ICPCE) ;�6 E! E�A~� E�6���w� E�"���� �6�/$/� E�&>��. P!��6� 

%8&>�� ICPCE �� �$�" 4/O
 
��� R#	%�� 7��� =/#�2 ��1 b�,"X R#	" P86 E! �6�/$��Y  
�����  

1  !W� �&��� ���� �2��8�� tX i���
 ����� ��>`%�� �� i%f tX i%f (RPO) Y ��z$A��4/O Pu ���� � 7
 
�/�� ��/>e �#12� ��./,B  ��!�_ )FWS( ��#	" �S�f d�q�"���� Z���� b�#>�,�! N�^���  � ���I� E 1� 
 1hY �O [0Fe 

����>6x�� �&�$�� � b��I� 2.  

 b��I�1 
 ) �1�0��1( 
 ��� �����  ������(RPO)��� �� ��� �� ������� ���!��� "�#$�%�  

PDH  ���  
) ������ ����(3

����� 	
��� 	�
��  

(Mbit/s) SDH  1,5 	
 5 5 <	
  15 15 < 	
 55 55 <	
  160 160 <	
  3 500 

���
�� ��� ����� 	
  RPO 

 ���� ������ ������(ESR) 
�  ����� ���!�� "�#���

 $%��&��G.826 

0,02 0,025  0,0375  0,08 ���'� #( 

 ���� ������ ������(ESR) 
�  ����� ���!�� "�#���

 $%��&��G.828 

0,005 0,005 0,01 0,02 ���'� #( 

 *+,�� � -�'./� ����
 ��0����)BBER ( �

� "�#��SDH ����� ���!�� 
 $%��&��G.828 

2,5 × 5–10  2,5 × 5–10  2,5 × 5–10
  

5 × 5–10
  

5 × 5–10
  

 2'�� 3+4+5 ������ ����
)SESR( 

0,001 0,001  0,001 0,001  0,001 

____________________ 

1   6�4 �  �78�9��ITU-T M.2101 :4�
; �0����� �7��+�� �'<�� �46�+=�.  
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 b��I�1  h) %12� �1�0��1(  
 ������ ����� ���)PRO ( ��&'*� ���+ ,�$!- .SDH�� �� ��� �� ������� �  

�����  STM-0 STM-1 STM-4 

"�*+,��  64 000 192 000 768 000 

 ���&��ESR)  ����� �G.826(  0,0375 0,08  ���'� #(  
 ���&��ESR)  ����� �G.828(  0,01 0,02 ���'� #(  
 ���&��SESR 0,001 0,001 0,001 

 ���&��BBER)  ����� �G.826(  ���'� #(  ���'� #(  ���'� #(  
 ���&��BBER)  ����� �G.828(  2,5 × 5–10  5 × 5–10  5 × 5–10  

 b��I�2 

/01���� )a
n

(  

 ������� �����PCE) km(  �������)% ���� !" RPO��# $% ��# !" ( 

IPCE  

&�'�*��� &��#� +�,-./&���-0  

  d  ≤     100 1,2 

  100  <  d  ≤     200 1,4 

  200  <  d  ≤     300 1,6 

  300  <  d  ≤     400 1,8 

  400  <  d  ≤     500 2 

  500  <  d  ≤  1 000  3 

  1 000  <  d  ≤  2 500 4 

  2 500  <  d  ≤  5 000 6 

  5 000  <  d  ≤  7 500 8  
  d  >  7 500 10 

(1)
ICPCE  

  d  <     300 0,3 

����� ��1�2� 3��� 456 0,2 

(1)
  "�
4?�; �7��; @AICPCE&�� ��!0  :B�C; D�� E�F*G� 6+
; H��IJ 6+K �K ��ICPCE.  

2  W
 H�� i�� ����� @x��� (APO) ����� z���  �2��8�� v�� �� �/8�� �r(MPL) 
�� 
�  b�,"U� ��>� Z�	
4/O �Q&�� C����:  

�
�#/:  
) P6�DA%�$�2 tX (  APOes  =  A %  ×  RPOes  ×  TP  ÷  100   

 ) P6�DA%�$�2 tX (   APOses  =  A%  ×  RPOses  ×  TP  ÷  100  

 ) P6�DA%�$�2 tX   � VC-1� 2(   APObbe  =  A%  ×  RPObbe  ×  TP  ×  2 000  ÷  100  

) P6�DA%�$�2 tX   � VC-3� 4� VC-4-Xc(   APObbe  =  A%  ×  RPObbe  ×  TP  ×  8 000  ÷  100  
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�b�,"U� ��>� Z���:  
) P6�DA%�$�2 tX (   APOes  =  A%  ×  RPOes  ×  TP  ÷  100  

) P6�DA%�$�2 tX (   APOses  =  A%  ×  RPOses  ×  TP  ÷  100  

) P6�DA%�$�2 tX   � STM-0( APObbe  =  A%  ×  RPObbe  ×  TP  ×  64 000  ÷  100   

) P6�DA%�$�2 tX   � STM-1( APObbe  =  A%  ×  RPObbe  ×  TP  ×  192 000  ÷  100   

) P6�DA%�$�2 tX   � STM-4( APObbe  =  A%  ×  RPObbe  ×  TP  ×  768 000  ÷  100    
v��:  

  

A% = an

N

1

∑ % Y
�� 

Y7
  A%  =  a
1
%  +  a

2
%  +  ...  +  a

N
 %  

  an:   %8&O P.� ;6x����IPCE� ICPCE
��� P.^6   
  A% =  a%b�,"U� ��>� Z���   

  TP:  �e q%)��%�e �
 ("�$�TB�  
�  MPL = APO × PLF 

v��:  
PLF :g����� �6�, P��O  

3  ! W� P���O jk��� ����� �6�,PLF ������� )%12� b��I� 3 ( �2��8�� ���
 ���� j6%>� P`
 ��MPL�*/�+�� :  

 b��I�3  
 ����� �0�& 2��3PLF���4�� *  

 ����� ���	 
���
SDH  
 ����� ����
PDH  

 �����SDH  
 
���
� �����PDH  

���  
) �� �����APO(  

���  
����� ����  

���  
) �� �����APO(  

���  
����� ����  

L7�!9�� +
0 -�6/�:  
ESR�  BBER = 0,1  

SESR = 0,5  

E����  
(< 0,5  APO)  

 L7�!9�� +
0 -�6/� =0,5  E����  
(<0,75  APO)  

 -�6/� �+O =1  BPQ&�  
)< 10 APO 	
 > 0,5(  

 �+O -�6/� =1  BPQ&�  
)< 10 APO�� > 0,75  (  

  R����  
(> 10 APO)  

  R����  
(> 10 APO)  

*  �7;�C�� #( *�S9�T� ���U � 6�+=� �,K�V� �WX.  
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4 !W�  "�$�TB� ��%�e(TP) ���
 �$	�%� ���#12 ��!�-�� ��./,0�� )FWS (��#	%��a##�� �	 4/O  �Q&�� C����:  
�  ���� j^.� �$�&��! [0`
 %8	
 �2��� "�$�T� q%�e b�#>�,� R]$&6 YKQ&�� �(TPDP) ���� 24 � �.� Y�O�, 

 "�^�2B� i�%y��u�>��! 4��6 Yg��6
 �>$, ���� [0`
 b�f
 "�$�T� q%�* 

�   "�^�2� i�%y � n�e%�� ����� j^.� �$�&��!�6��O�#>�,� �.� Yb P`�� q
8	 �2��� "�$�T� q%�e (TPUP) 
�� ��15���	� g 

�   �6�6��%�� ���	��� ��
�#/� �$�&��!�/��>�� "�$�T� q%�e �>! [0`
 b�f
 q��>! 4��6 Y�2��� PzT�� ��� �>! 
 �2��� PzT��TPMI) ( i�%y � �.� Y��6
 �>$, ����B� "�^�2�6��>���#>�,� �.� Yb[0`
 %8	
 "�$�T� q%�e  

 ����24�O�, . 
B� q%�e q�� Y[�����g��	�� �*� ��r R� �2��8�� v�� �� ����� ���� �� P.� "�$�T  

5  !W� �#F�6  NQ/��1 ����5"X ��e�dX P���*�� �O ���� ��� ������$	�%�� ��Y  ���<&�� "�$�TB� ����%`X�
���� h��� �2��8�� v�� �� ����� MPL. 

�567�� 1 � ;�� 4/O N��O Pu �/! �� W��/$�� ������� Z�#8� =�.$5 v�� W�.� ����� ;� ;6x���� ��G� ��/$! �$�&��! 
tX 
��� C����.  

�567�� 2 � P-� b��f�� d "�^�� �<��X � b��I� 2 
�f�b N6%A�� R/>*�� �
 e������ �6�I� �!�%F� P��>! 
��� 
YH,�&� (Rf ) gP	
 �#<6
 Y��
 �#�e N/>�6 ���	�! ��>� Yb�,"U� e
^� b�A�� d tX �e���� ��/>*�� H�Qe );`�" �������  

ITU-T M.2100:(  

 b��I�4  
 8�5��� 9�:���� ;�! ���PCE#�$��� 2��3 2<�=�   

!���"� #$%��"� &�� ��' (PCE)  �*�+"� ,��-)RF(   ��'PCE.��/�   
d < 1 000 km 1,5  1,5 × d km 

1 000 km ≤ d < 1 200 km 1 500/d 1 500 km 

d ≥ 1 200 km 1,25 1,25 × d km  

�567�� 3 � �.� ���+�,� i����� RPO �>$��� b�>#/� C��� ��
�#/� PDH �#�e N/>�6 �0����! ������� q��>�� 
E/]^�� ��� P#>��� ����<� �##8� H�� ������� �Q�&�� ITU-T G.826. 
�567�� 4 � �.� W
 j/�� ��%�e i�%y "�^�2B� �6��>�� 
o� ������� �� �/! tX Y%T� ��� � ;�� ������� ���P�� tX 

��*�� b�� @�d��� 4/O �i�%f� �&>���.  
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 �����1 

���	 
���� �
����� ��	 �� MPL ������������   

1  ������� ��	
�� ��
��  

����%`X"�$�TB�  Y=>	�� �6�D� HA>�� j^.� ��� W��! �
 ���G� ��&_
 �$	�%� ;� %����
�� �$	� � ���	
PDH/SDH Y
������� � �<*6%>� �%6 Y"�$�TB� ��&_
 %z��� ��O q%�e 7
 ;� P��>��� ��*�u s�r � �c ITU-T M.2120  �S�#>�,� �.��

 b�,"X �#12
� ���	
� ��
��FWS���~� �$G� �A^2
 ��%�e ��&_
 ��#	%��  . �$G� �A^2� "�$�TB� ����%`X ��X�#/��� 
�/�,�"��� ��	 R<e Z��I� �
.  

2  ������ ���� ���� ����� ������� ��� �� MPL  

;$�� ���AG� ������� b�8Q/� 4/O ���� ���
 
�� �
 Z�	 PDH/SDH 7r �/8��:  
����� 1:  i%>��� 4/O b�>� ���$�� � 
��� �
 Z����  
����� 2:   q��%	 i����� RPO �/!���� b�>� ���$�� �&��H, � b��I� 1
 �
 1h �
 1l �H�& �AG� ESR �SESR 

�BBER.  
����� 3:  i%>��� 4/O Pu %��&>�� PCE 
�#/� �
 Z���� YP��.�� a�$-�� N = ��>�� R/.�� %��&>/� ����L%�� �� 


���(PCE)  
����� 4:  i%>��� 4/O b�A�� dY P.� %8&O PCE × n )1 = n tX (N W�.6� b�A�� d ��X b�f ��
� R/>*�� �
 �.� 

�%6��� ���� b�f ��	 q%L���� 4#1>�� E! �A�2 i%A�� � P��O 
����� H,�&�� Rf )%12� �1�0�� 2 �� 
����(  

����� 5:  �6�D ;6x���� %an  �� b��I� 2 )�$�&u �6��� i�</� RPO �� i%f tX i%f( �� P`
 PCE × n 
)1 = n tX (N ."�\� !U�q"�5 W
 �����>6x� � b��I� 2 R� Z�	 Y��8	 �.�� W
 P#>��� Z�	 %-u
 ���%� 

�O ��	�*�� ��L�&_ �
 q��>�� i�%f��  
 �����6:  Yh��� ;6x�� 
��� %AY v��:  

A%  =  an

N

%

1

∑  

����� 7:  �6�D q%�e "�$�TB� (TP)  �!�/A��[��e� �&$/� ���� 5 )15 ���	� �
24 �O�, �
 7 6
��.( �>6 �O q%�*�� TP 
Y���-��! Y[0-� s 86 400 = TP �� P`
 q%�e "�$�TB� q��#�� 24 �O�, �s 604 800 = TP �� P`
 q%�e 
"�$�TB� q��#�� 7 ��6
  

����� 8:  h��� i����� APO �� P`
 Z�	 ES �SES �BBE Y�!�/A�� [��e� ����/>#/� ��� � b�8w� �<�/O [��!�,: 
APO  =  A%  ×  RPO%  ×  TP  ÷  100  

 �����9:   �� h���MPL 7�AG P!���� Z���� �
 
�#/� H,�&�� ES� SES:  
MPL = APO × PLF  



������� ITU-R F.1566-1  7

  v��W�.�  MPL��X :  
   YKQ&�� ����� ��MPLDP  

  �
Yn�e%�� ����� ��  MPLUP   �&$�� %12� ����3  
  Y{0�U� �>! ����� �� �
 MPLPAR  

������ 1��� ���  ��	
 �� �
�PCE� �� ���� ��� ������ ����� ����
 !"�
� �� #.  

3  ����� ����� ����!  

 ������� z�&�ITU-T M.20�� ��O � W�.6 W
 �.� �� [�2��u W
 4/O �=L��� [�>$� [��$�� �ek%>�� i�%1�� �� � . tX "�^�6
� ���
 �6�, �:
 4/O ik%>��� ���
 ��6��u i�%1�� ������$�� ���
 �6�,� �'AQ&� ���
 �6�,� �d�e% . tX "�^6� ���w�

�/��*������� ���� �:
 4/O ����� ��6�, E!  . ������� i�%>� Y���w� ��� 4/O q�0OITU-T M.35 "�^�6 [���T [��� 
��/8��� �>! �����! =��X.  

Pu��  �� ����� ���� �� ���� i�S APO� ���w� ��� n%>���  b��I� 3.  

4  �	"�
#� $

% ��&�� ����� ��	
'  

 �&z�>� [�#�	  ���
 ¡�� 4A>�6 ���&O��B�! ��AT
 ES� / �
SES� / �
BBE H/A��, ��AT�� s/� �� P.� ����� �� Wpe 
�$��8�� ���	 q�� . W�������� b��&���ITU-T M.2100 (PDH)� ITU-T M.2101 (SDH) ����� ����� ��$�O ��<*� 

P�8*���! ������.  
�&�  W��������M.2100/M.2101 4/O  � ¢�e���� ����� �$	�%� ��$�O� ����/>� �
 b�#>�,0� ���>�� ������%�,U� W


 E�������ITU-T M.20� M.34 ITU-T .� ��$�>�� ���  £'/$� i�,� ��� q"��X �.$5 �O �0�]^��� �#12
 tX ����/>��
� �� ¤Pu � �B�8�B�P`�� P6�A�� P�/Q���� R/>*�� a	�� . R]$&6 Y'KQ&�� �
 n�e%�� ����� ��6�, ��$�O ¥�/! �&O�

����� ���	 �O P���� ¦�§ 4/O �2��8�� P#>! @%̈^�6 W
 .[0`
 b�f
 q���/� P���D� �%T
 ��$�O P#>���� W
 �.�� .
�8+�� R/>*�� a	��� � [�I�>� �0�]^��� �#12
 P#>��� i�,� tX �2��8�� ��6���
 �"�$O ��� ����/>��� ��$�>�� 

 ������� � �e����� ����� 4/O i�%5U� ��/#O �A,��!ITU-T  M.20 .  
� �$�&��!0 ���� �$	�%� ���>�� ������%�,MPL �#12� FWS �_0_ �T�� Y��#	%�� @��2
 Y"�$�OB� � �$�>�� �$	�%� ���� �� 

T1� T2� T3.  
 	
���
 ��
 �	
����T1  

 a$©-�� �#�	 �$	�%�� q��T1 �&O 15 ��AT
 z�O �%\� ���	� ES� SES� BBEq%�*�� ��� b0T  .� �O��� q%�eT1 � 
��>�$A�� "�^�2B� i�%y ��&_
 �d�e%�� ����� �6�, �� b���2B� j^u�<��X �
 .  

 �$�O RA� �&O �$�>�� %6%�� ª�6 ��AT
ES �
 SES �
 BBE .�� ª�6 q��OX %6%�K$d ��� Y�$�>�� �� ���&O Y�6"���T� 
 ��AT
 ��O W�.6ES� SES� BBE q��OX �$�O 7���6 �
 P	
 K$F�� . ������� � «��$�� ��� �zd��ITU-T M.2120.  
 �	
���� 	
���
 ��
T2  

 �$	�%�� q�� a$©-��T2 �&O 24 ��AT
 z�O �%\� �O�, ES� SES� BBEq%�*�� ��� b0T .  
%�e qT2�d�e%�� ����� �6�, �� b���2B� j^u � q�O��#/� R� �<��X �
  . �$�O RA� �&O �$�>�� %6%�� ª�6� ��AT
ES 
�SES� BBE q%�e b0T T2.  
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� q%�e P#>����T2 "�^�2B� i�%y ��&_
 �2��� PT�� ��� �>! ���G� tX ���	
 �
 ��
�� q��OX �&O [�F6
 7��>�� .
��� "�$�O� R]$&6 q%�*T2 ����� �� R*6 Z���� �
 
��� W
 �� �u��/� ����
 "�$�T� q%�e (MPLPAR)��
���! ��G� / 

��/8��� �>! ���G� tX q��>�� ����G� . ���� �Q`�2 �$	�%� q%�e H�O�T2�%#�,B� R]$&6 Y" Z���� �
 
��� �$	�%� � 
 P	�� 4/O ��6
 �>$��) q%�*��T3  (¬ �� �u��/� �2��8�� PzT�� {�) %12� q%�*��5 ��  �������ITU-T M.2120.(  

 �	
���� 	
���
 ��
T3   

 �$	�%�� q�� a$©-��T3  ��AT
 z�O �%\� ��6
 �>$, �&O ES� SES� BBEq%�*�� ��� b0T  . q%�eT3 � q�O��#/� R� 
�d�e%�� ����� �6�, tX b���2B� j^u .RA� �&O �$�>�� %6%�� ª�6� �$�O  ��AT
ES �
 SES �
 BBEq%�e b0T  T3.  

	
���
/������ ���� ��� ����� ����  

 ­*�D W
 R]$&6 ��1&�� q"��XR®"�� P��! � ����� �$	�% q���� �&��)��%���� (P	�� 4/O.  

5  
(��
�� )�'� 
(��
��  

 E������� � %z����� ��O ���� �� l�%G�� b�T��� 
6�>� iz%>�ITU-T M.2100) q%�*�� 8(� M.2101) q%�*�� 12( Y
 ������� ZF��ITU-T M.2120�2��8�� ��,��	 P`
 �� ����� ���� ;d� �&O %z����� ��O ����
 Z���� 
6�>� .  

&�� ��	 @�d���� Y��d��*#/� %z����� ��O ���� �%��� Y[������B�8�0� C���� ��DB� � %1.  

6  �� �� ����� ��*+,� -��./012� �  

b��&�� W�������� ITU-T M.2100� ITU-T M.2101 P�8*���! ��%`X �AG� v�� �� ����� ��#/>� Z���� ���G� PT�� 
 ��2��.� �<`"�T�PDH�  SDH.  

 �&O "�^�2B� 
_��� �$`���� �6�&>�� �06X R]$&6��AG� v�� �� ����� ��#/>� Z���� �#12
 �2��8� FWS��#	%��   b0T
 i�%y "�^�2B���u�>��.  
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